STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

## **ID/IQ PROPOSAL**

DATE AND TIME OF BID OPENING: AUGUST 7, 2024 AT 2:00 PM

**CONTRACT ID: 12129348** 

WBS ELEMENT NO.: 13.101131, 13.101111, 13.201111, 13.201121, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY:

BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.:

N/A

MILES:

N/A

**ROUTE NO.:** 

VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION:

**VARIOUS** 

TYPE OF WORK: CULVERT PIPE LINING AND REPAIR UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Nu-Pipe LLC

NAME OF BIDDER

5600 Central Ave. Saint Petersburg, FL 33707

ADDRESS OF BIDDER

### North Carolina Department of Transportation Bid Form

Contract Number: 12129348

WBS Element: 13.101131, 13.101111, 13.201111, 13.201121, etc. Description: Culvert Pipe Lining and Repair Upon Request

County: Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid	
1	SP	CCTV Existing Drainage Inspection	40	HR	\$200.00	\$8,000.00	
2	SP	Host Pipe Grouting	250	GAL	\$185.00	\$46,250.00	
3	SP	15" Pipe Rehabilitation – CIPP Liner	100	LF	\$121.80	\$12,180.00	
4	SP	18" Pipe Rehabilitation – CIPP Liner	240	LF	\$141.45	\$33,948.00	
5	SP	24" Pipe Rehabilitation – CIPP Liner	500	LF	\$191.70	\$95,850.00	
6	SP	30" Pipe Rehabilitation – CIPP Liner	500	LF	\$238.70	\$119,350.00	
7	SP	36" Pipe Rehabilitation – CIPP Liner	100	LF	\$262.50	\$26,250.00	
8	SP	42" Pipe Rehabilitation – CIPP Liner	100	LF	\$277.70	\$27,769.50	\$7,770.00
9	SP	48" Pipe Rehabilitation – CIPP Liner	100	LF	\$390.40	\$39,040.00	
10	SP	30" Pipe Rehabilitation – Spray Liner	100	LF	\$238.70	\$23,870.00	
11	SP	36" Pipe Rehabilitation – Spray Liner	100	LF	\$238.70	\$23,870.00	
12	SP	42" Pipe Rehabilitation – Spray Liner	60	LF	\$252.45	\$15,147.00	
13	SP	48" Pipe Rehabilitation – Spray Liner	60	LF	\$354.90	\$21,294.00	
14	SP	54" Pipe Rehabilitation – Spray Liner	60	LF	\$460.15	\$27,609.00	
15	SP	60" Pipe Rehabilitation – Spray Liner	60	LF	\$492.20	\$29,532.00	
16	SP	66" Pipe Rehabilitation – Spray Liner	60	LF	\$547.00	\$32,820.00	
17	SP	72" Pipe Rehabilitation – Spray Liner	60	LF	\$583.55	\$35,013.00	
18	SP	78" Pipe Rehabilitation – Spray Liner	60	LF	\$713.95	\$42,837.00	
19	SP	84" Pipe Rehabilitation – Spray Liner	60	LF	\$806.45	\$48,387.00	
20	SP	90" Pipe Rehabilitation – Spray Liner	60	LF	\$835.95	\$50,157.00	
21	SP	96" Pipe Rehabilitation – Spray Liner	60	LF	\$997.30	\$59,838.00	
22	SP	Invert Placement	50	LF	\$180.40	\$10,824.00	\$9,020.00
23	SP	Point Repair	15	EA	\$4,020.00	\$60,300.00	
24	SP	Dewatering, 2" Pump	10	EA	2,125.00	21,250.00	
25	SP	Dewatering, 4" Pump	5	EA	\$5,265.00	\$26,325.00	
26	SP	Dewatering, 6" Pump	5	EA	\$6,725.00	\$33,625.00	

TOTAL BID FOR PROJECT: \$971,335.50

\$969,532.00

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

### ID/IQ PROPOSAL

DATE AND TIME OF BID OPENING: AUGUST 7, 2024 AT 2:00 PM

**CONTRACT ID: 12129348** 

WBS ELEMENT NO.: 13.101131, 13.101111, 13.201111, 13.201121, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

ROUTES

LOCATION: VARIOUS

TYPE OF WORK: CULVERT PIPE LINING AND REPAIR UPON REQUEST

#### NOTICE:

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

Inliner Solutions, LLC

NAME OF BIDDER

1585 Roadhaven Dive, Stone Mountain, GA 30083

ADDRESS OF BIDDER

### North Carolina Department of Transportation Bid Form

Contract Number: 12129348

WBS Element: 13.101131, 13.101111, 13.201111, 13.201121, etc.

Description: Culvert Pipe Lining and Repair Upon Request

County: Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
1	SP	CCTV Existing Drainage Inspection	40	HR	\$450.00	\$18,000.00
2	SP	Host Pipe Grouting	250	GAL	\$250.00	\$62,500.00
3	SP	15" Pipe Rehabilitation – CIPP Liner	100	LF	\$350.00	\$35,000.00
4	SP	18" Pipe Rehabilitation – CIPP Liner	240	LF	\$370.00	\$88,800.00
5	SP	24" Pipe Rehabilitation – CIPP Liner	500	LF	\$400.00	\$200,000.00
6	SP	30" Pipe Rehabilitation – CIPP Liner	500	LF	\$470.00	\$235,000.00
7	SP	36" Pipe Rehabilitation – CIPP Liner	100	LF	\$540.00	\$54,000.00
8	SP	42" Pipe Rehabilitation – CIPP Liner	100	LF	\$640.00	\$64,000.00
9	SP	48" Pipe Rehabilitation – CIPP Liner	100	LF	\$660.00	\$66,000.00
10	SP	30" Pipe Rehabilitation – Spray Liner	100	LF	\$480.00	\$48,000.00
11	SP	36" Pipe Rehabilitation – Spray Liner	100	LF	\$560.00	\$56,000.00
12	SP	42" Pipe Rehabilitation – Spray Liner	60	LF	\$650.00	\$39,000.00
13	SP	48" Pipe Rehabilitation – Spray Liner	60	LF	\$500.00	\$30,000.00
14	SP	54" Pipe Rehabilitation – Spray Liner	60	LF	\$550.00	\$33,000.00
15	SP	60" Pipe Rehabilitation – Spray Liner	60	LF	\$600.00	\$36,000.00
16	SP	66" Pipe Rehabilitation – Spray Liner	60	LF	\$650.00	\$39,000.00
17	SP	72" Pipe Rehabilitation – Spray Liner	60	LF	\$700.00	\$42,000.00
18	SP	78" Pipe Rehabilitation – Spray Liner	60	LF	\$800.00	\$48,000.00
19	SP	84" Pipe Rehabilitation – Spray Liner	60	LF	\$900.00	\$54,000.00
20	SP	90" Pipe Rehabilitation – Spray Liner	60	LF	\$1,000.00	\$60,000.00
21	SP	96" Pipe Rehabilitation – Spray Liner	60	LF	\$1,200.00	\$72,000.00
22	SP	Invert Placement	50	LF	\$150.00	\$7,500.00
23	SP	Point Repair	15	EA	\$3,340.00	\$50,100.00
24	SP	Dewatering, 2" Pump	10	EA	\$3,340.00	\$33,400.00
25	SP	Dewatering, 4" Pump	5	EA	\$5,400.00	\$27,000.00
26	SP	Dewatering, 4 Tump	5	EA	\$6,700.00	\$33,500.00

One Million Five Hundred Thirty-One Thousand **TOTAL BID FOR PROJECT:** Eight Hundred Dollars and Zero Cents

STATE OF NORTH CAROLINA DEPARTMENT OF TRANSPORTATION HIGHWAY DIVISION 13

# **ID/IQ PROPOSAL**

DATE AND TIME OF BID OPENING: AUGUST 7, 2024 AT 2:00 PM

**CONTRACT ID: 12129348** 

WBS ELEMENT NO.: 13.101131, 13.101111, 13.201111, 13.201121, ETC.

FEDERAL AID NO.: STATE FUNDED

COUNTY: BUNCOMBE, BURKE, MADISON, MCDOWELL, MITCHELL,

RUTHERFORD, AND YANCEY

TIP NO.: N/A

MILES: N/A

ROUTE NO.: VARIOUS INTERSTATE, PRIMARY, AND SECONDARY

**ROUTES** 

LOCATION: VARIOUS

TYPE OF WORK: CULVERT PIPE LINING AND REPAIR UPON REQUEST

#### **NOTICE:**

ALL BIDDERS SHALL COMPLY WITH ALL APPLICABLE LAWS REGULATING THE PRACTICE OF GENERAL CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA WHICH REQUIRES THE BIDDER TO BE LICENSED BY THE N.C. LICENSING BOARD FOR CONTRACTORS WHEN BIDDING ON ANY NON-FEDERAL AID PROJECT WHERE THE BID IS \$30,000 OR MORE, EXCEPT FOR CERTAIN SPECIALTY WORK AS DETERMINED BY THE LICENSING BOARD. BIDDERS SHALL ALSO COMPLY WITH ALL OTHER APPLICABLE LAWS REGULATING THE PRACTICES OF ELECTRICAL, PLUMBING, HEATING AND AIR CONDITIONING AND REFRIGERATION CONTRACTING AS CONTAINED IN CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA. NOTWITHSTANDING THESE LIMITATIONS ON BIDDING, THE BIDDER WHO IS AWARDED ANY FEDERAL - AID FUNDED PROJECT SHALL COMPLY WITH CHAPTER 87 OF THE GENERAL STATUTES OF NORTH CAROLINA FOR LICENSING REQUIREMENTS WITHIN 60 CALENDAR DAYS OF BID OPENING.

THIS IS A ROADWAY PROJECT.

BID BOND IS NOT REQUIRED.

AM-Liner East, Inc.

NAME OF BIDDER

601 Jack Enders Blvd. Berryville, VA 22611

ADDRESS OF BIDDER

## North Carolina Department of Transportation Bid Form

Contract Number: 12129348

WBS Element: 13.101131, 13.101111, 13.201111, 13.201121, etc. Description: Culvert Pipe Lining and Repair Upon Request

County: Buncombe, Burke, Madison, McDowell, Mitchell, Rutherford, and Yancey

Line No.	Sect	Description	Qty	Unit	Unit Price	Amount Bid
1	SP	CCTV Existing Drainage Inspection	40	HR	\$2,529.00	\$101,160.00
2	SP	Host Pipe Grouting	250	GAL	\$492.00	\$123,000.00
3	SP	15" Pipe Rehabilitation – CIPP Liner	100	LF	\$225.00	\$22,500.00
4	SP	18" Pipe Rehabilitation – CIPP Liner	240	LF	\$300.00	\$72,000.00
5	SP	24" Pipe Rehabilitation – CIPP Liner	500	LF	\$465.00	\$232,500.00
6	SP	30" Pipe Rehabilitation – CIPP Liner	500	LF	\$577.50	\$288,750.00
7	SP	36" Pipe Rehabilitation – CIPP Liner	100	LF	\$675.00	\$67,500.00
8	SP	42" Pipe Rehabilitation – CIPP Liner	100	LF	\$750.00	\$75,000.00
9	SP	48" Pipe Rehabilitation – CIPP Liner	100	LF	\$975.00	\$97,500.00
10	SP	30" Pipe Rehabilitation – Spray Liner	100	LF	\$770.90	\$77,090.00
11	SP	36" Pipe Rehabilitation – Spray Liner	100	LF	\$817.70	\$81,770.00
12	SP	42" Pipe Rehabilitation – Spray Liner	60	LF	\$1,458.60	\$87,516.00
13	SP	48" Pipe Rehabilitation – Spray Liner	60	LF	\$1,475.50	\$88,530.00
14	SP	54" Pipe Rehabilitation – Spray Liner	60	LF	\$1,587.30	\$95,238.00
15	SP	60" Pipe Rehabilitation – Spray Liner	60	LF	\$1,670.50	\$100,230.00
16	SP	66" Pipe Rehabilitation – Spray Liner	60	LF	\$1,493.70	\$89,622.00
17	SP	72" Pipe Rehabilitation – Spray Liner	60	LF	\$2,000.70	\$120,042.00
18	SP	78" Pipe Rehabilitation – Spray Liner	60	LF	\$2,211.30	\$132,678.00
19	SP	84" Pipe Rehabilitation – Spray Liner	60	LF	\$2,376.40	\$142,584.00
20	SP	90" Pipe Rehabilitation – Spray Liner	60	LF	\$2,667.60	\$160,056.00
21	SP	96" Pipe Rehabilitation – Spray Liner	60	LF	\$2,809.30	\$168,558.00
22	SP	Invert Placement	50	LF	\$375.00	\$18,750.00
23	SP	Point Repair	15	EA	\$68,000.00	\$1,020,000.00
24	SP	Dewatering, 2" Pump	10	EA	\$375.00	\$3,750.00
25	SP	Dewatering, 4" Pump	5	EA	\$2,520.00	\$12,600.00
26	SP	Dewatering, 6" Pump	5	EA	\$2,925.00	\$14,625.00

TOTAL BID FOR PROJECT: \$3,493,549.00